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1 3431[/MR BE ZvF (RACH) % 0.00 0.00

1 3081|557k B ZvF (RACH) S 0.00 0.00

3 5230| B E&F HREeEFRAETEBRAT— = 7.94 7.94

4 5175/1L0 WLy RRMeEFRATEBRF—1B = 9.01 9.01

5 3957|HiE BE BIIRAF—HE = 18.74 37.48

6 2634|FE 1L B INEFRFX—ER % 29.86 29.86

7 10326(#5 K =& HREAeEFRAETEBRAT— = 30.21 30.21

8 4165|8 K =<5 RRMeEFRATEBRF—18 = 40.00 43.72

9 8338(3L A £M HREAeEFRAETEBRAT—] = 49.27 49.27
10 3043|3 ¥ BiE TAVTR RAxX—495T = 50.17 69.86
11 5185|8kH EK RER#EEFRAEEBRT—1 =z 50.91 50.91
12 3700(mh)Il #IBLH RRMeEFRATEBXF—18 = 52.52 61.49
13 4322|# % ERF YA —GRX—957 = 53.92 74.19
14 9962|F 57 i id RREAeEFRAEEB AT = 60.17 63.17
15 10333|Va—T4vF IVI1hU B N—,54T L—05 S 60.83 60.83
16 10215\ 7% 1k RREAeEFRAEEB AT 9 65.67 75.27
17 5236[1& L BT HRERHAEVHRZT—DFD = 68.03 88.56
18 4573| & E FKF I—TI-Rx—-H5T = 68.42 77.70
19 8642| =I5 = REREEFRAETEBRT—1 =z 69.97 69.97
20 6601| k% kF RRMeEFRATEBXF—18 = 82.81 102.91
21 9963|F I mE RER#EEFRAEEBRT—1 =z 84.83 98.98
22 8326|257k Hi+F RREABPFERATEBR I 9 87.81 87.81
23 5507[{& <" K #& RREEFRATEBRXT—1B z 93.75 93.75
24 7795[iE2 & HEREMPERABTEBRAT—E 9 95.67 95.67
25 8341|XJIl HiE BRI ERAE EBRR T z 95.85 95.85
26 4319| 5% KA RRMeEFRATEBR X1 = 97.28 97.28
27 7994 |71l IBF REBHHmAT—ESR = 97.47 97.47
28 5736|& M HR ICIAHAR—YRF—H5T = 97.86 97.86
29 5095|#5 K E& BERXX—HE 9 97.93 97.93
30 8622|f&H 3k RREAEEFRAEEB AT 9 98.01 98.01
31 5490|HA Bt BRI ERAE EBRR T z 101.33 101.33
32 3302| B 5 REE BERAX—Hs 9 102.39 102.39
33 7708|78;R R BRI ERAE EBRR T z 104.83 104.83
34 3322| Nk H<H FAIN—TALY g 106.29 106.29
35 1957(IUF EXRF ICIAHAR—YRF—H5T = 106.36 106.36
36 5716|5)1] 228 RREAeEFRAETEBRAT—] = 107.56 107.56
37 A149(HH 56 ZEHmAX—ER = 108.60 137.99
38 54483 HHE BAURT—H5T 8 108.67 108.67
39 3875|=H [5F UNORFX—4H5T = 109.22 109.22
40 2418|5HH & RREAeEFRAETEBRAT— - 110.60 122.94
41 4295| 5 H @8 RRTIAX—95T = 110.98 158.58
42 10561 |/N#k EB RREEFERAEEBR X1 = 111.40 115.48
43 5486(H#EE MWt B REMPERAE EBRR T z 111.89 111.89
44 5415|& /R B RREBPERATEBRF—I = 116.74 116.74
45 5734|ILTF FiBH R E T FRATERRET—ER = 118.55 118.55
46 10863| &%k BB RReEFERAEEBRT—1 = 120.19 216.21
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47 4028 & JEF R/ —Rr—7 £ 120.56 120.56
48 10310[FIAY TR IRT—RAF—F—LA = 120.82 120.82
49 6769|#1[E 4 BEARRF—ER £ 121.53 121.53
50 4368|7vFHF FEC A= 05 F— 1 = 122.14 133.26
51 7567|858 K BT RRHEEFRAEEBRET—1 = 122.82 122.82
52 1490 LU0 & X RAX—ER = 123.04 123.04
53 10852| & H &## HREAeEFRAETEBRAT— =z 124.76 124.76
54 1835|# 1L BE HR7IF17 - Ax—-4957 = 125.53 171.19
55 3308| 1Rk EHX MAXIMUMR ¥ —F— L E°8 127.79 139.21
56 3285|#h K E&F X RY =S 128.79 128.79
57 83794t BF NECHF R F— S 129.33 129.33
58 5406|4258 & E ASO—LRAFX—95T = 130.09 130.09
59 2410(fHE £k RERMEEFRAEEBRF—1 =z 131.05 131.05
60 8104|iFZE MhHY R)TAARFX—95T = 133.82 135.46
61 3433| K& Tz ZvF (RACH) £ 135.70 135.70
62 5489|h B 24 RREAeEFRAEEB AT 9 138.80 138.80
63 5747|# K B2 RRT7IFAT - AEx—957 S 138.92 138.92
64 8199| Il EHF EERAX—DST = 139.22 139.22
65 10176|/h2 1&%& RRESeEFRAEEBRAT—H =z 139.70 139.70
66 1281|535 pYUZ B AX—057 = 140.14 140.14
67 2023|1B/R E& HAAXRRAT—HE S 142.81 158.07
68 3679|)Il &£ BEiEF FINERAXF—ER = 143.02 143.02
69 7707|FER BIER RREEFRATEBRXT—1B z 143.67 143.67
70 5147| K& BBF SRR +—ER = 144.36 144.36
71 7582|FAIER Fi1ibF SN L—=08 z 144.82 144.82
72 3728 %% FEF NECHHRXF— 8 147.83 147.83
73 4381|351 =R FAO—R¥—H57 g 149.17 149.17
74 10216| 8 & BE RRMEEFERATEBR X1 = 149.37 149.37
75 7572|%&f EF BRI ERAE EBRR T =z 150.88 150.88
76 7841[/NEFI BE RREAEEFRAEEB AT 9 151.50 151.50
77 5751| Tk 18 B IN=bF4T L= £ 152.54 152.54
78 3870|EAX FH EERAX—D5D = 155.37 155.37
79 3668|1EH HEF HREAX—MEE =S 156.25 156.25
80 10713|iE8 X 7—ILE— krHFxa = 158.63 158.63
81 7631| £ 5 & REREEFRATEBRT—1 z 159.00 159.00
82 6698|FEM == RREAeEFRAETEBRAT—] = 159.13 159.13
83 8382| EXR DEH HEARAXF—F= = 160.87 160.87
84 69725 fH #UT HBEAX—U570 8 162.88 162.88
85 8640(H1 HE RRMEEFRATEBRF—1B z 163.35 163.35
86 9953| 5k EF =R F RREABPERATEBRF—I - 164.09 164.09
87 1775|0 & £F I—FIL-R¥x—-H5T = 166.03

88 10987|EH 7417 HEHARAFXF—HE -8 166.39 215.54
89 2241|8214 X RRMEEFRATEBRF—1B =z 167.13 167.13
90 5501(/\#k B THF RREBPERATEBRF—I gy 168.72 168.72
91 2186|781 ¥F ICIAHAR—YRF—H5T g 168.94 168.94
92 1164|348 E8 IRT)L—05 £ 169.45 169.45
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93 5731(12 B ICIAHAR—YRFX—4H5T = 170.14 170.14
94 2694| K P5F XTYRF—R A % 170.17 179.15
95 10605|F5i8 HZE RRHEEFRAEEBRET—1 = 171.47 171.47
96 4569 A F3IF HEHARAT—HS = 172.19 172.19
97 4331|858 #F B i B ER AL R —1B = 172.20 172.20
98 10667 +F F ICIAEHAR—YRF—H5T = 172.77 172.77
99 10602| =48 EE & RRMEEFRAEEBRET—1 = 174.44 174.44
100 6652[;E8 UMD RRMPERAE EBRRF—H = 175.51 253.91
101 10149 )I| B HREAeEFRAETEBRAT—] = 177.93 177.93
102 2336| KB £+ AR E XL ARE S XX —E = 177.99 177.99
103 10423|Z5 ik =HY R P ERAE EBER T =z 178.20 178.20
104 1378|25:F )£ HHAAXRRXT—HE = 179.85 179.85
105 7579|fE|E BAE HAAN—LZAX—H50 £ 180.81 180.81
106 11108| 4 &5 RREAeEFRAEEB AT = 180.99 328.67
107 2217| K48 B #E EEAT—EEER = 181.15 181.15
108 1356 [#aK & F ZBRAX—957 8 181.87 181.87
109 6064|HFH AF F—LE—ry—-H Yk £ 182.18 182.18
110 10581|¥A A Hi#h RREAeEFRAEEB AT = 185.37 185.37
111 7785| ik H EiE ABIN—=b54T L= =z 185.59 185.59
112 2419[;FHF HIH FOILRAF—95T = 186.74 186.74
113 2717|3H T & HAAXRRAT—HE S 187.73 187.73
114 1832| £t ERF IRT)L—08 = 188.40 188.40
115 2390|1M BE-F RREEFRATEBRXT—1B z 190.01 190.01
116 10540|3 A #5F TAVTR RAX—495T = 191.56 191.56
117 10964| K F &4 F—L Fvia = 191.87 191.87
118 8619|518 1hiE RRMeEFRATEBR X1 = 191.92 191.92
119 4499|fEH =15 FALRAX—H5T = 193.07 193.07
120 5462|F 15 &+ HEAX—D5T 8 194.18 194.18
121 8275|iFE BEF MLR-OLS5—FK g 196.38 196.38
122 5703| =48 &= Y8 —GRF%—495T = 197.98 197.98
123 11037 | 8K &5 BRI ERAE EBRR T z 198.54 198.54
124 3075[KH pmMY R R T —{BEER 9 199.85 199.85
125 7791=mk =4 F B IN=bF4T L= = 199.90 199.90
126 10973| F P K %k ICIAHAR—YRF—H5T = 200.29 200.29
127 8620|H B FiE REREEFRATEBRT—1 z 200.35 200.35
128 3826| 7R E=F HEHARAFXF—HE = 200.55 201.75
129 8337|h & E4& B IN=bFA4T L= z 201.57 201.57
130 5479|h F #EK ICITAHAR—YRF—H5T 8 202.48 202.48
131 4047|E3F LD 5 AExF—F—LTFR)—F = 203.46 203.46
132 5768| KF9 HE RREABPERATEBRF—I - 203.75 203.75
133 2152|580 EE A—IRITLT—)L = 203.83 203.83
134 10699|/F H K Fi AOBIN—=bF4T L= - 213.73 213.73
135 3058 &R BkE rF—LRX—H5T g 214.51 21451
136 11015| 5K & ICIAHAR—YRFX—H5T g 215.35 215.35
137 6674| =48 BicF EERX—H5D g 216.75 232.60
138 10740| & FF RRESPERAGER R —E = 218.75 218.75
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139 3103|\RE 5 F—1I Fvia = 220.42 220.42
140 10968|/NiB HREE ICIRHAR—YRX—95T S 223.82 223.82
141 2201|110 B RRHEEFRAEEBRET—1 = 22499 22499
142 10348|HEH =& XTYRF—R A % 231.52 231.52
143 7601|/Mi BEE ATA—AREX—H5T = 231.64 231.64
144 3955|8 FF ZSHTAEVRY5T = 232.39 232.39
145 10825|1=F 5 BRI ERAE EBRRT—H] = 234.90 234.90
146 3604| ik I5EF RNHERXEHTRAF—EB % 238.73 238.73
147 11107|HG ELE HREAeEFRAETEBRAT—] = 244.76

148 8172|/h L MM EHE = 24567 24567
149 4380|ILUH EF FOILRF—95T £ 246.65 246.65
150 10263| 1A d13E ICIAHAR—YRF—H5T = 246.79 246.79
151 10668 BE# HEEAX—ER =z 247.19 247.19
152 10877|3& % E3id RRMeEFRATEBRXX—18 = 248 81 313.44
153 10970| E 58 ZEHY ICIEHAR—YRF—H5T = 251.22 251.22
154 110423 D% F Ao B IN—=bhF4T L= = 253.96 253.96
155 2398|/MNR HIEE RRESeEFRAEEBRAT—H 9 254.04 254.04
156 6372| AH E£F HREAX—MHEE = 254.48 254.48
157 10324\t £ BARZ&E INTARIR—Y9P5T = 262.82 262.82
158 8489| X% EZX= RRMeEFRATEBXF—18 = 264.80 264.80
159 6869|;EH [5F J5 o 1)) —AF— Ha—J = 265.03 265.03
160 10463| 2 H ilTy RREAeEFRAEEB AT = 266.28 266.28
161 3902(HI & IR{EF HEAX—0570 g 267.29 267.29
162 10301 | = BEE IRTS—TREF—F—L = 267.35 267.35
163 10603| 3 £ K REREEFRATEBRT—1 z 269.19 269.19
164 8649| & ik £ ATRE—H5T 8 269.37 269.37
165 3209( £ F 14 EERXX—H95D = 269.83 269.83
166 10711 |4l &% RRMPERAET ERR T = 271.45 271.45
167 9813|158 % £ BEXX—9570 g 276.22 276.22
168 10503|7k 38 JE 3K REMPERAET ERR T = 276.87 276.87
169 2187|2H BF IR —ER =S 278.92 278.92
170 1814|E S = HHAAXRRAT—HE 9 280.94 280.94
171 3094| A H HBF 2047 -2—5 )Ly~ = 282.00 282.00
172 2208| A HEA RRMeEFRATEBR X1 = 282.52 282.52
173 10330| £ % & A—IRITLT—)L = 284.91 284.91
174 2223| & [E pHMY ABIN—=b54T L= - 289.13 289.13
175 6486|% & MRIEF AR RILY = 289.19 289.19
176 3988|AIH FIi& TFARVAX—5T g 290.48 341.54
177 10741| 7% EF R REMPERAE EBRR T z 291.68 291.68
178 7605| #3111 FREE HR7IFa7-REx—-4957 8 291.72 291.72
179 3047| B8 B(FD H i ®"ERTARfL R+ —E % 293.24 293.24
180 10379|7EfE] ZEF A—IRILT—IL £ 294.77 294.77
181 10952|TEfE H{KF A—TIRILT7—IL % 295.26 295.26
182 1385|5t HEIT HEHARAFXF—HE £ 302.91 302.91
183 10846| Kith &£ RRMEEFRATEBRAF—1B z 305.36 305.36
184 10358|87 & 5= HoBN—+ 54T L—05 £ 307.42 307.42
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185 10331|HE FR Y1— )L F37) (Ziel Tokyo) £ 308.44 308.44
186 10742| &8 Fih RRMPERAE EBRRF—H = 309.62 309.62
187 5923|/\#k HfEF RRAR—YIIZ5T = 309.74 309.74
188 0085(BH &=y B IN—=bFA4T L= = 311.14 311.14
189 9055|#H HFH F—LATA—ITILR—N\—RF—H5J| & 312.75 312.75
190 8344|1M ®RF REMBPFERATERRT—E T 322.47 322.47
191 1087934 I /MR RRMEEFRAEEBRET—1 = 32412 32412
192 10294| £ EH Bk INTARIR—YH5T = 330.77 330.77
193 12171 B8 BF KDDIR*—957 ey 335.27 335.27
194 11014[52 0 BAE ICIAHAR—YRF—H5T = 335.76 335.76
195 479|[E A M J5ovx)—AF¥x—4yn—7J = 336.29 336.29
196 10255| K& {24t PELHARF—IST = 337.76 337.76
197 10322[/N 1] & NECHF X F—&f S 339.80 339.80
198 10847|85K GEF RRMeEFRATEBRXX—18 = 341.33 362.56
199 5916|#TH thF LEtXRF—ER S 342.91 342.91
200 7075| i ¥+ HLURF—H5T = 350.00 350.00
201 8355(A 2= INTARIR—YH5T = 351.60 351.60
202 10687 |4f HEE W BIN—=bhF4T L= = 352.64 352.64
203 11070| &M Y7 ABIN—=b54T L= =S 363.96 363.96
204 9737|AH BEEF EERAX—DST = 364.16 364.16
205 10712 Ry /NSESE ABIN—=b54T L= = 364.89 364.89
206 11027|F%HF F Y4— )Lk F3) (Ziel Tokyo) £y 364.95 364.95
207 10848 K4t EM RREEFRATEBRXT—1B 9 371.67 400.80
208 2163|1LO BF HERTPIF1T7 - Ax—9357 = 373.83 373.83
209 10287 (IS 1% & X RREESPFRATEBRF—E z 382.05 382.05
210 10366|;5H FE V14— )L F 37 (Ziel Tokyo) = 384.01 384.01
211 11051(47H WS B IN—=5A4T L= =S 396.32 396.32
212 10878|E5 /% #5F RREAEEFRAEEB AT 9 398.53 398.53
213 11088 [ <BHH BRI ERAE EBRR T z 398.88 398.88
214 10421|h{R Erk REMPERAET ERR T = 401.33 401.33
215 10873|FaAR B RREEFRATEBRXEF—1B z 405.62 459.62
216 5369[;FF £ H FAILNRF—H5T = 405.73 405.73
217 10480| 1Nk 1= BRI ERAE EBRR T z 409.86 409.86
218 11065| /8 55 INTARR—YH5T = 411.16 411.16
219 3980[m K HF AZO0—LRFX—H57D g 414.84 414.84
220 10700| K% 24 ICIAHAR—YRFX—H5T g 416.08 416.08
221 10583|R &R RRMEEFRATEBRAF—1B z 423.83 423.83
222 8444|185 K BHE ~F—9 = 426.18 426.18
223 2719|872 MR E T—hAR—YRF—H5T g 441.35 441.35
224 1432| =@ #F BARTZILROAXZ—H5T 8 45437 45437
225 10658 | 3R {F#8 ICIAHAR—YRF—H5T = 460.56 460.56
226 1000|/8 ¥ S. C. Ryl = 462.25 462.25
227 1110531 B 568 RRMEEFRATEBRF—1B z 500.75 500.75
228 7202[;AI N Fid A—IRILT—IL I 505.05 505.05
229 10359(| = i#h B B IN=hFA4T L= = 509.19 509.19
230 11249|FF K IE RReEFERAEEBRT—1 gy 514.84
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231 10953| 7 =HF A—IRILT7—)L ey 515.15 515.15
232 7900| R JEF 959 HhREx—95D = 521.42 521.42
233 10874|E X BAEF im%rs“%%x%a;_ﬂﬁx# R = 525.92 525.92
234 10637|%7:2 HMY RRMeEFFERAE ;'ﬁx# EB = 530.39 564.68
235 10864|/MNR &£ HREeEFRAETEBRAT— = 533.60
236 11307 |#k BRKF imaﬁm%%h%’ééﬂﬁz#— B = 565.46
237 11262|}E8 E3x HREAeEFRAETEBRAT— = 565.72
238 2891 | &R & F HEHARAT—HS = 574.20 574.20
239 3657| AR MIED HAAXRRT—HE = 611.77 611.77
240 10814[18 & i RRMPERAET EBRRF—H = 615.96 615.96
241 10353|/NEAAE FAh RREPFRATEBRF— = 616.44 616.44
242 10746| %A IB1E RREBPFERATEBR I = 617.99 617.99
243 10738|/M1] EE#R R P ERAE EBER T 9 633.74 633.74
244 10880| &4 HikEF RREAeEFRAEEB AT = 641.88 641.88
245 10769 | B0 L& ia%ﬂqﬂ%hﬁkﬁa_m F—EB =z 662.08 662.08
246 10802|FEA #0 & RRMPERAET EBRRF—H = 672.64 672.64
247 10466|K88 F8B ia%ﬂqﬂ%hﬁkm_mx# &R = 700.52 700.52
248 10501 | AR BEF RREBPFERAFTEBR I = 709.64 709.64
249 11261(48:R B2 REREEFRAETEBRT—1 9 717.56
250 10716|1k 3% & RREAeEFRAEEB AT = 728.44 728.44
251 10429|/EH &% Ea%ﬂqﬂ%hﬁkﬁa_mx# &R 9 732.70 732.70
252 112465 7% %5 RREAeEFRAEEB AT 9 743.42
253 10697[f# 0 B 7Th RREMPERAE me# &R 9 762.98 762.98
254 10768| ¥R HK RREBPFERATEBRF—I 9 792.76 792.76
255 10808|%EM /v 3+ BRI ERAE EBRR T 9 801.90 801.90
256 10959|#% )1l BEF RREBPFERATEBRF—I 9 869.64 869.64
257 10465[{R R 1HE BRI ERAE EBRR T 9 877.34 877.34
258 10500| 1k 7% B E RREBPFERATEBRF—I 9 941.24 941.24
259 10431|1LO HZE RRAESPFRATEBRF—E z 942.68 942.68
260 10767|Fa4T =ik REMPERAET ERR T = 1020.52 1020.52
261 10782| B 3L FiIZ BRI ERAE EBRR T 9 1127.66 1127.66
262 10821|FhEE BEE RREBPFERATEBR I 9 1149.76 1149.76
263 10784|2kE BE&E BRI ERAE EBRR T 9 1242.98 1242.98
264 10775|BI% %4 RRMPERAET ERR T = 1418.36 1418.36
265 10777|{R 25 48 RREMPERAE me# R 9 1436.62 1436.62
266 10783 | L &1t HREBPERAT AX—ER - 1480.82 1480.82
267 10776| )5k K F ia%ﬂqﬂ%hﬁkm_mx# R = 1606.22 1606.22
268 10698[:1 0 F3& HBEAX—U570 = 1763.21 1763.21
269 9522|HIK #8F HII ®HERA#LR+— £
269 11263|3k/E = ER%B"%?“—hWaLEﬁZ# &R =
269 11247\t BARE RRMEEFRATEBRF—1B =
269 11272[/ME 5% RRAEFERA aa_mx# R =
269 10925{EH AVEF RRMEEFRATEBRF—1B =
269 11267 [dFt 245 RRMEEFRAEEBRX—18 =
269 11277|%70 5% RRMEEFRATEBRAF—1B =
269 11306| ¥7 44 % RReEFERAEEBRT—1 =




2016—17>—X> RAVFJAFNo2
8 : ZFMEEE(SL)

SATHRHL

[I=Fiva =xo K4 Gl T4 A1) No2 No1
269 11241|# A FEXR Em%ﬂ"%?bawﬁa_%ﬁx# &R =
269 11266|ILT R RRMeEFFERAE ;'ﬁx# EB =
269 11245|;E1D #& HREeEFRAETEBRAT— =
269 11278|Ei0 HHa RRMeEFFERAE ;'ﬁx#— B =
269 11279|#2H B HREeEFRAETEBRAT— =
269 11308|85K EBE RRMeEFRATEBRF—1B =
269 3288 =# Bz INEFREX—ER =
269 5104(F# B F TJYYFTIORREF—REA S
269 6808| 1k ik IV F HAAXRRT—HE =
269 11075| &8 &Y XX F—ER 9
269 11372| & H EE XX F—ER =
269 9833|E5 7k fiF B —ER £
269 257|/K B BAF EXXX—ER =
269 1253))11 & 24K RIBERRAX—H= S
269 280|ZEfk H1E NTTERREAF—E8 =
269 10990|1R[R ;B 7TH FIVEFTIL—T 9
269 10370 LA E&B —EHMAF—ER =z
269 1414|125k BEF FOIRF—95T S
269 2233|%# B HieE FAOILNRFX—95T L8
269 4260|/NE FRRF AS50—LAX—H50 =
269 10534| 5 1% Fis IERRXF—ER =z
269 5260|FA EF IRRAF—ER £
269 8425(F Bk E# I—TI-R¥x—-H5T z
269 3231 |IBAR FF I—TI-Rx—-H5T 9
269 7578[A°F 5+ HEAN—LZAX—H5T z
269 11230|B8 & HEERX—9570 9
269 9973| 7 IR F&F KDDIRFX—9570 z
269 5346| Nk =F EERAX—HD5D 9
269 2518|F Il S\pE EXX—957 z
269 5293|&R B IS5 —AF¥x—4yn—7J 9
269 6221| %1% £F J50 1)) —AF— H0—J 9
269 3407|MH BEEF 5001 —AF¥x— H0—7J =S
269 10349|*FH ImfE JIRA REX—H5T z
269 5482 =@ B#& HEIXX—H5D 9
269 7876|1E A ¥ Ee z
269 2261 | K+ 2T BoT4AF¥—957 =
269 8898|#h)I| HF ZRRXX—957 z
269 11073|/RH &F 5%&7@?—’757‘ =
269 184|ME WmF RKHEREFRAF— S
269 2962|;EER A RKEARXEMAF— rs £
269 10824|H O BE %X R/— IN—F=— z
269 10374/N87 0 EiR BARIZVRRX—H5T -
269 7634|)I| X BEHE BARIZVARZ—H5T =
269 54181 ;R UNORF*—H57 gy
269 517|2% HE FER—C21RFX—H5T =
269 11400|;BF BE FHTI—R¥X—957D gy
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